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QT 3597

(1)
(ii)
(iii)

(iv)

(v)

(vi)
(vii)

FHYIT 571 H1 FEF 96T |
T8 F99-97 17 @S] § fawiford 8, 379q @UE &, @IS & 37K @Ug T |

TS F-— 5 3H FT & N 399 VFTR FIT W6 97 8 |
(%) J97 &I 1 8 4 T TH 37 & J97 8 | [81 a4 Jo41 & I 7 |
(@) I97 &1 5 3N 6 3Tt 37H & 97 & | 1341 vah 397 &7 I T |

TGV G- 12 3] BT & 37K 5494 1[&99 &5 Hivier /W12 397 8 /
(%) Fo7 G&IT7 G 12 7% Uk 37% & F97 & | 381 9 9791 & I 7w |
(T) I97 G713 T 18 T% F1 371 & F97 & | 1381 &I Io71 & I A |

TUZ T 8 37%] &1 & 3K 559 3 Tar-SiefiRd 97 & |
J97 GEIT 19 G 21 7% TR 3H] & o7 & | [o-a] @ Fo4l & 3IoK /@ |

FIeT GUel 7 15T TT 14331 & SFaR Hiferd |
STFT 37H! FT IPE J i GUS/ o & GTH7 1597 7T & |

Qug &

(TR twTe ) (8+2=5 3ieh)

13T 77 4 3991 § @ [F81 3 oI & I Fw | 3x1=3
1. 39 TUET 61 3g@ HiT AT foreht Izt i o1t sTowerarent i wWieR i,

AT & W@ @4, 81 9 A4 3R et = o & 3 989 § | 1

2. 3T g UM 33T AW a7t Toheal gl A= SIRGHT o g1 3¢T8l0T SIS | 1
3. Trdl @ wiowu wedt guenedt w1 AW fafaw e qaae waq o %

ST & Hehd 7 | 1

4.  HGR Al 1 IUANT H 1 FT AT & 2 1

3T 7T 2 3991 § @ [T 1 I97 7 3T v | I1x2=2

5. I i HIE qF ffieed ToE Hif | 2

6.  Haa foeed 3ewi & gfd @ foru fordi g gIfaal =t Feiteg il | 2
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General Instructions :
(1) Please read the instructions carefully.

(it)  This question paper is divided into three sections, viz. — Section A,
Section B and Section C.

(iti) Section A is of 5 marks and has 6 questions on Employability Skills.

(a)  Questions number 1 to 4 are one mark questions. Attempt any
three questions.

(b)  Questions number 5 and 6 are two marks questions. Attempt any
one question.

(iv) Section B is of 12 marks and has 12 questions on Subject Specific Skills.

(a)  Questions number 7 to 12 are one mark questions. Attempt any
four questions.

(b)  Questions number 13 to 18 are two marks questions. Attempt any
four questions.

(v) Section C is of 8 marks and has 3 Competency-Based Questions.

Questions number 19 to 21 are four marks questions. Attempt any
two questions.

(vi) Do as per the instructions given in the respective sections.
(vii) Marks allotted are mentioned against each section/question.

SECTION A
(Employability Skills) (3+2=5 marks)
Answer any 3 questions out of the given 4 questions. 3x1=3
1. Name the quality that helps any entrepreneur to accept failure, learn
from mistakes, not give up and continuously experiment. 1
2. Write any two examples of common risks that any entrepreneur takes. 1
3. Name any two environmental problems that can be solved with the help
of Sustainable Development. 1
4, What is the advantage of using solar power ? 1
Answer any 1 question out of the given 2 questions. 1x2=2
5. Explain any two roles of entrepreneurs. 2
6. List any two challenges to fulfil Sustainable Development Goals. 2
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(Tero fafere witvrer) (4+8=12 3ie)
130 719 6 1 7 @ 574 F & I v | 4x1=4
7. SUcTh BIEH R 1 Ush fFeH 8 T8l $eie o HIead & ugdl Sl
gohdr 7 | 1
8. TER IS HIIEL Fedeh hl dfegeh yurert (faee) 2 | 1
9. T THUfafad FReR 8 St 39 A hl HEREdT Al 8 e
Foflued (HI-S) I A=A AT AT o ITATT T HiSATE 1 TG Bl 8 | 1
10. SEEHE Y JUMH! o al 38 ffau | 1
11. 3T 9US 1 M Fd13U ST IUFT i@l bl AW AT sl v | JeRid
T o Toru T Sian 2 | 1
12, et o (Wi ) @ wRonfi S | 1
3T 78 6 ¥ 7 @ 8T 4 F1 & I v | 4x2=8
13. gHeT % fohedl AR WehRI 1 gt A1y | 2
14. HehIel Foh8 hEd & ? PohiA o g fohd TehW o faawr weTia fohu Smd 8 2 2
15. TR ARRCF=R T UTEh-GaTeMl (FATGS-Hel) ATehida=t & o= H
A 1 T Toig TaRa | 2
16. SIOH H T IR bl SIS o 0T Tk ¥ 3 a9 HIATST | Teh IR0
o TIY 39 3T T g HIY | 2
17. T=fafea = gfonfyg i 2

(%) oreT Tradn (HiaEeHn)

(@) st Afafewar (Reeet)
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SECTION B
(Subject Specific Skills) (4+8=12 marks)
Answer any 4 questions out of the given 6 questions. 4x1=4
7. , is a system of interlinked hypertext documents accessed via
the internet. 1
8. is a global system of interconnected computer networks. 1
9. is an accessibility feature that assists people that have
difficulty using a keyboard or a mouse (or both). 1
10. Write any two examples of Database Management Systems. 1

11. Name the term that is used to display the records in ascending or

descending order. 1
12. Define Foreign Key. 1
Answer any 4 out of the given 6 questions. 4x2=8
13. Give a list of any four types of accidents. 2
14. What are cookies ? What details are stored by the cookies ? 2

15. Give one point of difference between peer-to-peer architecture and
client-server architecture. 2

16. Explain ‘one to many’ relationship to relate two tables in a database.
Support your answer with an example. 2

17. Define the following : 2
(a)  Data Consistency

(b)  Data Redundancy
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18.

Mot SN WU, | Tk Jdd SHT I8dT 8 Sl fhehe Raanfedi w1 foawo
HUE hdl 2 | 38 U foregl = Taul 1 3k 221 Yol o 91y AW dfore | 2

Qug T
(TraT-eTiE T ) (2x4=8 37h)

e 7 3 yv91 7 @ a1 2 o1 & 3% 57 | 2x4=8

19.

20.

89

TIERT WHT S 61 SR 2 3R 10 @HT 39 61 gReat (few) =t g &
TS AT ATl 8 | 39oh Teh 0 3 30 g fen foh 98 sari for@n &t | 4

(%) AN HT 32T T HIWGT |

(@) forgl Q1 AaEEe &1 IFW@ HINT T AT a1 I Ll & |
() STHATET AT HUTEeh T 32T TF HIfGY |

(7) Tl Q1 SATHeITET Al HUTGehi o AW fIRaY |

Yok foshd @ @9 3T B GHIl B0 8 | $eHe % §ed 3TN H §gd €
TEEATAT T AT ot 89 3AoThad W B 7 | 4

(%) Il (3CS) M T 39 1 Fuerd 8 ? forel U afiaaeimsa 9
Jm faflgr 3 38 g9smy |

(@) oaea () W e gHfvad & & ot @ Fags  Awmi
(Sfeeast) =1 goma i |
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18. Ravinder wants to create a table in DBMS that stores details of cricket

players. Name any four columns along with their data types for the

same. 2
SECTION C
(Competency-Based Questions) (2x4=8 marks)
Answer any 2 questions out of the given 3 questions. 2x4=8

19. Radhika is fond of cooking and wants to share her cooking tips with the
world. One of her friends suggested her to start writing blogs. 4

(a)  Explain the purpose of a blog.
(b)  List any 2 websites that provide blog service.
(c) Explain the purpose of an offline blog editor.

(d) Name any two free offline blog editors.

20. Every development has advantages as well as disadvantages. With the
enhanced use of internet there are many problems that all of us are

facing these days. 4

(a) What do you understand by internet security ? Name and explain

any one online threat.

(b)  Suggest any two best practices for ensuring security over internet.
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21. = foreEht aifeenr (wrdemdt) w fomm il
ATTCTRT : AT
EMPID[™  [daq T ST Tt COMM e form
(DOJ) DEPT
1001 [@&F 7000  [10/04/2006 300 el M
1002 |[RY 12000  [08/12/2005 100 foa F
1003 [q9TT [9000  [25/05/2004 500 el M
1004 [gA9 10000  (23/08/2005 300 ferqum F
1005 |3 11000  [16/07/2005 500 el M
1006 [ 15000  |22/09/2005 200 foa F
1007 [@f&d  [8000  [26/08/2004 900 el M
SQL HTS feiia :
() Tew faum & werie % foawo w1 vefifa w0 & fau |
(@) TS EMPID 1007 3 3H! 9a9 1000 S 1T |
() 59 SE=IRE @1 dad 10000 & 31 g 3R faega faawor weiia s
% fo1u |
(&) | =TT T 9 o TR H H TGRIG i W T |
gieaTiaa attenfefai & forg
ffefaa =t afenfya i
(%) fevme seew fasme faweq (RDBMS)
(@) HINE hT (Composite Key)
(1) @IS (field)
(a) € .E.ud. #ue (DDL Commands)
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21.

Consider the following table : EMPLOYEE 4
Table : EMPLOYEE
EMPID | NAME SALARY DOJ COMM DEPT GENDER
1001 |ROHAN 7000 10/04/2006 (300 SALES M
1002 |RISHU 12000 08/12/2005 |100 FINANCE F
1003 |DEVANSH (9000 25/05/2004 |500 SALES M
1004 |SUMAN 10000 23/08/2005 |300 MARKETING |F
1005 |ARYAN 11000 16/07/2005 |500 SALES M
1006 |TAMANNA |15000 22/09/2005 |200 FINANCE F
1007 |ROHIT 8000 26/08/2004 |900 SALES M
Write SQL Commands :
(a)  To display the details of all employees of SALES Department.
(b)  To increase the SALARY by 1000 whose EMPID is 1007.
(c) To display the details of all employees whose SALARY is more
than 10000.
(d)  To display the list of all students in descending order of SALARY.
FOR VISUALLY IMPAIRED STUDENTS
Define the following : 4

89

(a)
(b)
(c)
(d)

Relational Database Management System (RDBMS)

Composite Key

Field

DDL Commands
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